
Guided Reading 

Harry Potter and the Philosopher’s Stone by J.K Rowling 

Chapter One: The Boy Who Lived. 

Thursday: Questions 

Authorial choices 

These questions are more difficult and may be something we would discuss in a writing session if we were 

analysing successful features of a text. For that reason, I have written little hints to help you focus on how 

to successfully answer each question.  

1. Look at this line in paragraph 7. ‘No, looking at the sign; cats couldn’t read maps or signs.’ What 

effect does writing the words ‘looking’ and ‘or’ in italics have on the reader?  

(hint: think about how it changes how you read those words and then why the author wants you to 

read it that way – what does it reinforce?) 

It makes the reader emphasise them which simulates Mr Dursley trying to convince himself that 

what he is seeing is not true.  

2. Why does the author add ‘thank you very much’ to the end of the first line? 

(hint: think formality – who is saying this? Now why do they wish to say it?) 

This is added as it is what the characters themselves would say. It gives us more experience of their 

character as we can hear them saying it and imagine how they might behave. In this case it 

reinforces their pride mentioned earlier in the sentence.  

3. Why has the author chosen to put dashes around this speech? 

 
(hint: is it a full conversation? Are you hearing everything?) 

Because Mr Dursley is not hearing all of the speech, just snippets of a conversation and this allows 

us, the reader, to experience that as the character is, only hearing the words which are important 

to him. 
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4. What body part does the author choose to use to describe both Mr and Mrs Dursley? 

Their necks. 

5. ‘None of them noticed a large tawny owl flutter past the window.’ For what reason has the author 

chosen to put the sentence in its own paragraph?  

(hint: look at the paragraph before and after, what are they about?) 

To reinforce how obscure this is as it is sandwiched between two paragraphs which describe 

explicitly the Dursley’s normal, mundane morning routines. It makes that single sentence stand out 

more and reinforces the contrast.  

  



  


